Peck, Olsen & Devore, Chapter 6

Exercises 6.1 — 6.13

6.1

6.2

6.3

6.4

A chance experiment is any activity or situation in which there is uncertainty about which of two or
more possible outcomes will result.

Consider tossing a coin two times and observing the outcome of the two tosses. The possible
outcomes are (H, H), (H, T), (T, H), and (T, T), where (H, H) means both tosses resulted in Heads, (H,
T) means the first toss resulted in a Head and the second toss resulted in a Tail, etc. This is an
example of a chance experiment with four possible outcomes.

The collection of all possible outcomes of a chance experiment is the sample space for the experiment.
The sample space for the experiment described in Problem 6.1 is {(H, H), (H, T), (T, H), (T, T)}.

a Sample space = {(A, A), (A, M), (M, A), (M, M)).
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6.10

6.11

B = [DDNN, DNDN, NDDN}

The number of possible outcomes is infinite.

The 27 possible outcomes are (1,1,1), (1,1,2), (1,1,3), (1,2,1), (1,2,2), (1,2,3), (1,3,1), (1,3,2),

(1,33), (21,1), (2,1,2), (2,1,3),(2,2,1), (2,2,2), (2,2,3), (2,3,1), (2,3,2), (2,3,3), 3,1,1), (3,1,2), (3,1,3),
(3,2,1), 3,2,2), (3,2,3), (3,3,1), (3,3,2), (33,3).

A={(1L1,1),(222), (3,33)}
B ={(1,2,3), (1,3,2), (2,1,3), (2,3,1), 3,1,2), (3,2, 1)}
C={1,11), (1,1_3),(1,3,1), (1,33), (3,1,1); (3,1,3), (3,3,1), (3,3,3)}

Be={(1,L,1), (1,1,2), (1,1,3), (1L2,1), (1,2,2), (1,3,1), (L3,3), (21,1), (2,1,2), 2,2,1), (22.2),
(2,2,3), (23,2), (2,3,3), (3,1,1), (3,1,3), (3,2,2), (3,2,3), (3,3,1), (3,3,2), (3,3,3)}

Ce={(1,1,2), (1L2/1), (1,2,2), (1,2,3), (1,3,2), 2 1,1), (2,1,2), (2,1,3), 2,2,1), (22,2), (2.2,3),
(2,3,1), (2,3,2), (2,3,3), 3,1,2), (32,1), (3,2,2), (3,2,3), (3,3,2)}

A UB={(1,1,1), 2,2,2), (3,3,3), (1.2,3), (1,3,2), (2,1,3), (2.3,1), (3,1,2), (3,2,1)}
A M B = the empty set. There are no outcomes common to A and B.

ANMC={1,11),(333))
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G'he required region is the area common to all three circles.
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